

Find:

$$\Omega = \lim_{n \rightarrow \infty} \left(\lim_{x \rightarrow \infty} \left(\underbrace{f \circ f \circ \dots \circ f}_{\text{"n"-times}} \right) (x) \right), \quad f(x) = \frac{x}{\sqrt{1+x^2}}$$

Proposed by Mais Hasanov-Azerbaijan

Solution by Daniel Sitaru-Romania

$$(f \circ f)(x) = f(f(x)) = f\left(\frac{x}{\sqrt{1+x^2}}\right) = \frac{\frac{x}{\sqrt{1+x^2}}}{\sqrt{1+\frac{x^2}{1+x^2}}} = \frac{x}{\sqrt{1+2x^2}}$$

$$(f \circ f \circ f)(x) = f((f \circ f)(x)) = f\left(\frac{x}{\sqrt{1+2x^2}}\right) = \frac{\frac{x}{\sqrt{1+2x^2}}}{\sqrt{1+\frac{x^2}{1+2x^2}}} = \frac{x}{\sqrt{1+3x^2}}$$

$$P(n): \left(\underbrace{f \circ f \circ \dots \circ f}_{n\text{-times}} \right) (x) = \frac{x}{\sqrt{1+nx^2}} - \text{suppose true}$$

$$P(n+1): \left(\underbrace{f \circ f \circ \dots \circ f}_{n+1\text{-times}} \right) (x) = \frac{x}{\sqrt{1+(n+1)x^2}} - \text{to prove}$$

$$\begin{aligned} \left(\underbrace{f \circ f \circ \dots \circ f}_{n+1\text{-times}} \right) (x) &= f\left(\left(\underbrace{f \circ f \circ \dots \circ f}_{n\text{-times}} \right) (x) \right) = f\left(\frac{x}{\sqrt{1+nx^2}} \right) = \\ &= \frac{\frac{x}{\sqrt{1+nx^2}}}{\sqrt{1+\frac{x^2}{1+nx^2}}} = \frac{x}{\sqrt{1+(n+1)x^2}} \\ &P(n) \rightarrow P(n+1) \end{aligned}$$

$$\Omega = \lim_{n \rightarrow \infty} \left(\lim_{x \rightarrow \infty} \left(\underbrace{f \circ f \circ \dots \circ f}_{\text{"n"-times}} \right) (x) \right) = \lim_{n \rightarrow \infty} \left(\lim_{x \rightarrow \infty} \left(\frac{x}{\sqrt{1+nx^2}} \right) \right) = \lim_{n \rightarrow \infty} \left(\frac{1}{\sqrt{n}} \right) = 0$$